PROFESSIONAL EXAMINATION BOARD

Training Officer’s Selection Test : 2016
10th November 2016, 09:00 AM

Topic:- General Knowledge
1)

Question Stimulus :-

Pick out the river that doesn’t originate in India. / 39 &t &I qA1d Fivd foraeT Hd R HIRd el

gl

® Sutlej / Adgel

e Ravi/ 4t

® Chenab / Gk

® Beas/ &I
Correct Answer :-Sutlej / Iddqel
2)

Question Stimulus :-

Which city was founded by the generals of Akbar as the Mughal capital of the Bengal Province in the

early 171 century? / 1791 Gl & ARY § PR & YYHI gRT 1 # 9 {5y e &1, sma
Hifa=a ST YIS ST I 747 U1?

Dhaka / GIhT

Kolkata / CAREAG)|
Tangail / &

e Mymensingh / 'Fl'lg'a:l'ﬁl?

Correct Answer :-Dhaka / GI®hI

3)
Question Stimulus :-

Which place in Madhya Pradesh is known for ‘Festival of Dances’? / g yexr o
DI AT RIF T & Heloqd’ & o1 ST STan 32

e Orchha / 33T



e Khajuraho / ET{R'I?I

e Bhopal / HiuTed

 Chanderi / 93t
Correct Answer :-Khajuraho / E\‘{R‘I‘ﬁ
4)
Question Stimulus :-

Which award is given to honour excellence in the field of creative composition in Hindi poetry? / %a

Hiadr B TS W1 & & | a1 9 aren Syl GHE S AT E 2
e Shikhar Award / RIER oR
* Maithilisharan Gupt Award / ATFISIRRUI T REPR
e Lata Mangeshkar Award / T HIRI®HY [REDR

e Kalidas Award / BTG [REPR
Correct Answer :-Maithilisharan Gupt Award / RfUSIRRUT W RIPR

5)
Question Stimulus :-

Which art form is Ustad Amir Khan of Madhya Pradesh an exponent of? / H&] YR & IS ATRR

I f5a sar- fQur & fage 32
o Shehnai/?l?‘l'lg

¢ Khayal / ©Td

e Sarod/ W

® Dhrupad/ YUq
Correct Answer :-Khayal / STl
6)
Question Stimulus :-

Which state government has launched “Laadli Laxmi Yojana” for the development of girls? / foa wsa

P WHR A Fifererel & e & forg arsel aedt aie=r &1 3Ry foar 82



Odisha / GﬁﬂT
Gujarat / ToRTd

Madhya Pradesh / HE II%QT

New Delhi / T8 faeeit

Correct Answer :-Madhya Pradesh / H& e

7)
Question Stimulus :-

Which of the following Indian films was screened at the Cannes Film Festival 2016? / IBE]

# ¥ fr URedta fen oY 2016 & Fi¥ fihed Sa & wefkfa far mar urz
* Raman Raghav 2.0 / YH- XTYd 2.0
®* Bombay Talkies / 9TF STfb g
* The Lunch Box / G Td dT

® Lukka Chhuppi/ dbT @'Uﬂ

Correct Answer :-Raman Raghav 2.0 / YH- ITdqd 2.0

8)
Question Stimulus :-

What is the literacy rate of Madhya Pradesh as per the census of 2011? / 2011
P TRIUFT & AR, W YR $I Aférd a3 1 82

e 70.60%

e 76.60%

e 73.80%

e 79.10%
Correct Answer :-70.60%
9)
Question Stimulus :-

Who won the Women’s Doubles Toray Pan Pacific Open Tennis trophy in 2016? / 2016 ¥ fra+ e

9 tffre siiumr ¢ @ afgar g erwt oikdt?



e Sania Mirza and Barbora Strycova / T firaf qut ameRn Rewiat

¢ Makoto Ninomiya and Shuko Aoyama / HeIel fAFIITRRAT aY DT SMATHT

e Liang Chen and Yang Zhaoxuan / o == ayur QTGWGTFI

e Sun Xuliu and Makoto Ninomiya / g Fjﬁl’{ﬂ"’ﬂ Apel i
Correct Answer :-Sania Mirza and Barbora Strycova / qrf=rar forstt aur arewT m
10)

Question Stimulus :-

Lord Buddha delivered his first sermon at / HITATH & 39T qgdl B'Q%QT G| ﬁ'CIT qr?
® Bodh Gaya/ CIKID]
® Sarnath / GRATY
® Kaushinagar / Wﬁ
e Sanchi /9T
Correct Answer :-Sarnath / GRATY
11)

Question Stimulus :-

Name the holy book of the Parsis. / URRE & ufdx Iy 19 a?l'lﬁ,l
e Zend Avesta / WS 3%
e Kwen Boh / G| 3.1?
® Quran / P
® Guru Grant Sahib / % Uy HTI%TSI

Correct Answer :-Zend Avesta / S8 Al

12)
Question Stimulus :-

is the only city which is a capital of 2 states. / THHTH THT WER g ar
Il BT AU 7




e Mumbai/ &%
* Delhi/ fawdt
¢ Kolkata / CAREaSI]
¢ Chandigarh / dSNTe
Correct Answer :-Chandigarh / I8¢

13)
Question Stimulus :-

Which country hosted the conference of top security experts of SAARC countries in 2016? / 2016 ﬁ,

fa 21 § W <= & FRa faRivs &1 gWes smafera fear mar?
e Bhutan / YeIH
* India / HRA
e Nepal / AUTd
 Bangladesh / TG

Correct Answer :-India / YRd

14)
Question Stimulus :-

Name this place which is known for its oil refineries and oil fields. / 39 ®IT9 &1 ATH Id15d S
A 3ifgd NwredY iR Sifsa Wiegw & ford wfrs &2

® Dibrugarh, Assam/ %TTQT, SHH

* Guwahati, Assam/ T[aTgI¢l, 3H

® Digboi, Assam/ %TW}I%, Y

® Dehradun, Uttarakhand/ ﬂﬂ'l?'l'a, SWRTEUS
Correct Answer :-Digboi, Assam/ f&ag, 3 H

15)

Question Stimulus :-



In which of these cities is the Central Bee Research and Training Institute located? / ?Tfl'q

AYHTE! AU TF U&7 TR, 370 A B9 § e | R 22
e Jabalpur / SEAR
e Mumbai/ a§
® Nagpur / AR
* Pune/ Q0!
Correct Answer :-Pune / 01

16)

Question Stimulus :-

Which is the oldest National Park in Madhya Pradesh? / H& L'I%'QT H Jaifere yRA A2Ed Urd DA
182

e Bandhavgarh National Park / Si¢[di¢ XM UTh

e Kanha National Park / BIgl AT UTh

e Madhav National Park / HIYd AT UTh

e Satpura National Park / ST A=A T
Correct Answer :-Kanha National Park / BTGl AYEA UTh
17)

Question Stimulus :-

Which of the following is a semiconductor? / = o @ o9 w1 sidaTae %?
e Lead / s
e Molybdenum / Araes-H
e Silicon / ffRrH=
e Platinum / wfeH

Correct Answer :-Silicon / Riferara

18)

Question Stimulus :-



The Classical dance of Andhra Pradesh is / 318 'CI%'QT BT ARAY I %
* Kuchipudi / $TIgSt
* Kathakali / SYB
e Odissi / 3N
® Bharatanatyam / HYd-TCIH
Correct Answer :-Kuchipudi / $fagst
19)

Question Stimulus :-

The famous 'Tulsi Samman’ from Madhya Pradesh Government is given in which

of the following fields? / A% WX M gRT, RIS 'gat 9= e d 4 fpa @ &
fear irar 82

e Folk arts / AP BT

e Literature / Hifigd

e Music / Tt

e Hindi Poetry / 3=t o130
Correct Answer :-Folk arts / dld Bl
20)
Question Stimulus :-

Where was the Indian Flag hqisted on 12th Apri_l 1944 by Netaji Subash Chandra Bose?
/ 12 3Ud 1944 H AdTeil YUY 9% I §RT R ST Hal Beral TT?

e Mizoram / fieiRw
e Manipur / 'FI'WI'E[\'
* Megalaya / ATy
e Nagaland / ARTAS
Correct Answer :-Manipur / Af0TqR

21)

Question Stimulus :-



Which of the following options is TRUE about Vardhamana Mahavira who founded Jainism? / @Ham &

GRS 9fAH 7R & Hdy # g & Q@ o1 91 fdeew Wy 82
* He was the 24 Tirthankara / @ 240 &
® He was born in modern day Madhya Pradesh /% a?qur Ca) > qH EI%EZT s | ﬁa'r 4y g
* He taught the Eightfold Path / 381 TFi® AW &1 U= faT Ut
® He lived around 2000 BC / ST SI1G-1-HTd TITHT 2000 T G AT
Correct Answer :-He was the 24! Tirthankara / @ 24df&T &
22)

Question Stimulus :-

Bhopal became the capital of Madhya Pradesh in the year / Hure a9 H AeAuS
CARIEEIEICE

®* 1992
®* 1038
® 1956
* 1947
Correct Answer :-1956

23)
Question Stimulus :-

The benches of Madhya Pradesh High Court is situated at? / Y U ST AT Bt §F ﬁ’ftr\'
@ 82

e Indore and Bhopal / ¥aR 3R iU
e Indore and Gwalior / IgR 3R MR

Bhopal and Gwalior / U 3T IferaR
® Indore, Bhopal and Gwalior / gav, HiuTer 3T TaIferaR

Correct Answer :-Indore and Gwalior / Eﬁ'\' 3R TIferaR

24)

Question Stimulus :-



The Elephanta caves are located in / Qﬁl’h {[IFI'Q  fR« % |

e Madhya Pradesh / ST U

® Gujarat / JoRTd
® Maharashtra / HgIRTS¢
®* Rajasthan / TSR
Correct Answer :-Maharashtra / HgIRTS¢

25)
Question Stimulus :-

The national animal of India is the Royal Bengal Tiger. What was it before that? / HRd &I ?T'Sa'q I
A A SR 81 I UgA B T U UT?

e Elephant / grdt
e Lion / W
e Rhinoceros / fer
e Bison / dIgd+
Correct Answer :-Lion / W

Topic:- Mechanic Motor Vehicle
1)

Question Stimulus :-

Which term is used to describe the action of a shock absorber when it is expanded? / aﬁq T Mo bl Eﬁlﬁ »

faeaTia g1 R e 59 v o) e war 82
® Jounce/SII3~H
® Free length /W1 &Y
® Deflection/ fSTRITR
® Rebound / HI3TS

Correct Answer :-Rebound / 91308

2)



Question Stimulus :-

The cetane rating of diesel fuel is of the order of ./ Sioa gy &t R ¥
FPABIRI
o 25
.« 45
e« 70
e 90

Correct Answer :-45

3)
Question Stimulus :-

The castor angle shown in the diagram is / 3@ H 21T 9137 Shee] HIoT %

CASTER ANGLE

TRUE WVERTIC AL | STEERMNG PIWOT
. wﬁHGLE

E FORWARD

=k

LEAD F'CINT/-

\WHEEL CONTACT
FAIMNT

e Positive / YATHD

® Negative / BUITHD

® Zero castor / E{EHW

e Reverse castor / SchH W
Correct Answer :-Positive / UATHD

4)

Question Stimulus :-



The brake system should be dismantled if the reservoir is topped up with mineral oil instead of the correct
brake fluid. This action is necessary because mineral oil ./ af¢ USR e DI 6l 9P &a & U=

TR Gl dd A HRT 1T @ oY S YUITel 1 e B 31 I1e¢ | U P sie3) ¢ Hifep @iel ad
|

® is compressible / '\‘l'lﬂ%ﬁ%

® will not pressurize / qdId qﬁa'rﬂ

® damages the rubber seals / ¥dX Gl ETﬁ%T'ﬂ'QTﬂ

® boils at a lower temperature / ®H dTJHIT UR ITAM
Correct Answer :-damages the rubber seals /W%ﬁaﬁaﬁw
5)
Question Stimulus :-

The vehicle ride will be smooth and comfortable, if / dTge- AT I 3R SIRTHGAD 3-11“, 'EI'%
* unsprung weight is kept minimum / 3RS BT o RGORELCIRY Y
® sprung weight is kept minimum / T BT qol GG ELCIRGIY
® vehicle weight is kept minimum / dTg- T doI+ FAdH W7 ST
e all of the above / SWRIad 9t
Correct Answer :-unsprung weight is kept minimum / 3RS BT 6 GAdH QT ST
6)

Question Stimulus :-

Oil in the axle casing is required to / Qﬂ'\‘lﬁ R Ada %?ﬁrq TIP3
® Jubricate the wheel / q‘%‘tﬁ & @37'[
® Jubricate the rear axle / Y & %'\Q@T{
® smear oil on the brake drum /WE’HWW%
e cool the wheels / uﬁu‘r%wﬂa?ﬁ
Correct Answer :-lubricate the rear axle / UY 3{& %@’EF‘T

7)

Question Stimulus :-



The purpose of valve clearance is to / dled wﬂuﬁmsﬁw g

® allow the valve to expand / Waﬁﬁwrﬁ‘crﬁﬁaﬂ Glﬂ'qﬁ a_"IT

® allow the valve to slide in the guide / IYS H qTed B IXP DI Glﬂ'qﬁ' T

e ensure that the valve closes fully / '\ﬂ'ﬁﬁiﬁm & ared @fﬂﬁar_d %

® ensure that the crankshaft is free to rotate / Hﬁﬁﬁ[ BT o s Ave ‘{Uﬁ ALY Hd g
Correct Answer :-ensure that the valve closes fully /ﬂﬁlﬁﬁf BT B dled T’f??q q9<e
8)
Question Stimulus :-

When the silicone fluid is heated in a viscous clutch, it ./ old IGINEIG] aaaﬁwm% Fag A
T fParSrar g, A a |

® becomes a very thin fluid / §P dgd Udcll od d- SITdl %
® boils to a vapour / SACTH ‘J-I'I'qaq\_rl'lT'IT%
® thickens to a solid mass /@E‘TW@'\‘[ Wﬁﬁq SITdT %
o stiffens / PSR Gl ST &

Correct Answer :-stiffens /Ws’r SITdT %

9)

Question Stimulus :-

The front wheel alignment is adjusted by altering the /3T ufgar LEEG Y| FyRdaT I
AT g 3 |

* angle of the track arm / 2’3? 'gaﬁ? D01
® length of the track arm / 23? eIt D A
e distance between the Kking pins / W%aﬂaaﬁg&
® position of the drag link / 3’” oo @t fRufa
Correct Answer :-length of the track arm / 23? Wﬁm

10)

Question Stimulus :-



If the tyre size is 8.00 X 14, the diameter of the tyre will be / w%u%ﬁmmu 8.00 X 14 % a’rlﬂ%&m

T BRI

® 30 inches /30 33

* 16 inches /16 %9

e 28inches /2859

e 8inches/83d
Correct Answer :-16 inches / 16 3
11)

Question Stimulus :-

The type of gear shown in the diagram is a J et @ ue At
FINEAEROeHFaE

Straight Bevel gear / I 937 R
Spiral Bevel gear / it sae R
* Worm Gear / ar¥ fR
® Hypoid gear / Eﬁqvﬁgﬁfq?
Correct Answer :-Spiral Bevel gear / Ifte 99a firR

12)

Question Stimulus :-

What colour is the earthing wire of the fuel tank unit? / é'iF'T G| ?ﬁ'ﬂg & ?{lﬂﬁ:ﬁﬂ? Cad| WT‘T%’-’
® Green /Bl
e Blue/ HldT



e Black / DTl

e Red/dld
Correct Answer :-Black / BTl
13)

Question Stimulus :-

The two firing order used on four-cylinder in-line engines are / JIX mﬁ@uﬁﬁmmwma’r
A PHAT

* 1-3-4-2 and/ 3R 1-4-2-3

* 1-4-3-2 and / 3R 1-3-2-4

* 1-3-2-4 and/ 3R 1-2-4-3

* 1-2-4-3 and / 3R 1-3-4-2
Correct Answer :-1-2-4-3 and / 3R 1-3-4-2
14)

Question Stimulus :-

What is the type of axle in which the wheel end is supported by a bearing inside the axle housing called? /

3 3& B YPR I T Hgd ¢ o ufgd o1 RRT et gTIRIT & ser Frafer gry smenfa vgar @2
e Half floating / 3t TR
* Three-quarter floating / 99 WTAX TN
* Fully floating / 0T Trelife
e Quarter floating / BT G
Correct Answer :-Half floating / 3¢ GaIfeT
15)

Question Stimulus :-

If a tyre has excessive radial run-outhe technician should: / 'Cl'ﬁtl'l%'a'ﬁ' 3T IeTd 3 s3se %’, dd
GEEIINBEED]

¢ Replace the tyre / UTgdT S@H1 A1leT



® Reposition the wheel on the hub / FEW u%ﬁ &1 fibe | =T ST ?-IT%T{

®* Remove the balance weights causing tyre distortion / ufgar faeyqor %WWWH%

ERLE1IHY
® Reposition the tyre on the wheel / dsh U tr%ﬁ &1 ftby | =T ST a'l'%({

Correct Answer :-Replace the tyre / W%WWTW%Q

16)

Question Stimulus :-

What is the crown wheel and pinion called? / WU'%'QT 3~ fafga <= ﬁ?ﬂﬁ'%’?
e Differential / ﬁ'ﬂﬁ
® Rear axle / UY &
* Final drive / 3ifd® Sigd
® Rear drive / UY GIgd
Correct Answer :-Final drive / 3ifd¥ §T34
17)

Question Stimulus :-

Which of the following is an example of fusion welding? / e des HT A A P GT:{I?TUT%?
® Arc welding / 3P aes
® Forge welding / BIol desd
® Resistance welding / ufeRiy desH
® Thermit welding with pressure / qId & Ty Yffe aes
Correct Answer :-Arc welding / 3T des
18)

Question Stimulus :-

Servicing transfer cases, which one of the following is NOT CORRECT? / IHIdR Ul Al 1 AfdRT

AfraddFarad T8 82



® It must be supported an a transmission jack or safety stands. / TR AP a1 greadm WIS R 3@

TR T A1eY

® All transfer cases have both a chain drive and a planetary. gear set / Tt wuTHTaRor ATHE) ﬁt{ﬁ’?

A9 159 3R TP WAl e T 81 @
® YVisual inspections for leaks and damage are necessary. / frara sk eifa &1 Tz Adteror smazas

g

e Follow the manufacturer’s recommendations for drive. / 3133'%’7 ﬁﬂlm &1 RywTie=r &1
YTt dHAT

Correct Answer :-Visual inspections for leaks and damage are necessary. / frama e gfd wred
frteror smazas 3

19)
Question Stimulus :-

The breaking up of a liquid into fine droplets by spraying is called ./ PER Wﬁ gIRT &d DI
DIt gl § geT pearar s

® Vaporization / AT

® Carburetion / mﬁﬂm

e Atomization / DU
® Jonization / STIIHI0T
Correct Answer :-Atomization / U

20)

Question Stimulus :-



The type of axle shown in the diagram is /50 3@ # wERa
T RIFN

BFELAEILK, EETAILER

MWHEEL BEARILM= \

[ oy

AMLE SHAFT
kak

AXLE TUBE IMHEEL HUE

e Half floating/ 31 of weifea &
® Three-quarter floating / T BT wAifeT SM&l
* Fully floating / 0T TeIfET 3r&f
® Quarter floating / I Tl A&
Correct Answer :-Half floating/ 3¢} GfT 318
21)

Question Stimulus :-

What is the function of a shackle with a leaf spring? / e BT & 1Y Apd 1 WW%’
® Allows pivoting of spring end / BRI« Wﬂ'ﬁ Glﬂ'qﬁ T
® Allow spring length to change / i ?I'WTS‘ o yRada &t \’rlﬂ'qﬁf ST
® Controls sideway / Tdh R A frifd &

® Controls rear torque / U¥ WGITq:Uf CAREUIEGE e |
Correct Answer :-Allow spring length to change / @Tmﬁa’ﬁqﬂﬂ?&[ 4| s?vlﬂ'l:lﬁf T

22)
Question Stimulus :-

What is the colour of tail lamps in a car? / FRACH ﬁu?ﬂ?ﬂwsﬁ?ﬂ%v

e White / PG



e Red/dld

® Green/ B3Il

* Yellow / GidT
Correct Answer :-Red / dTd
23)

Question Stimulus :-

Which one of the following will be affected if there is excessive wear in kingpin bush? / fada e

guTfad g afe fb iU 921 R srenfres forg &l
* Toe-in /1T
e Toe-out / Tl 33T
e Camber / FTER
o Caster | $EX

Correct Answer :-Camber / a»‘ﬁl'\’

24)
Question Stimulus :-

In a Hotchkiss drive rear end, driving torque is taken up by ./ GPh _&ﬁ?-lﬁ"_\q IECRE ] R ﬁ, CINE]
3freuf &RT ferar T g1

® rear axle housing / UY GI&n'q G'I?;ﬁFT
® rear leaf spring/ Y e B
shock absorber / WdTd 3AYNYD

* engine mounting / $1- SRIYUT
Correct Answer :-rear leaf spring/ 94 W% BT
25)

Question Stimulus :-

The purpose of transmission is to provide ./ GROI BT G%W YUard sl %I

® high torque at the time of starting / TR & Waaraaarrq;l!f



o low torque / WGITE[Uf

® average torque / NTd ‘q'a&rrqpf

® high speed / I i
Correct Answer :-high torque at the time of starting / UWR¥ & Iy 3= WGI'I"E{Uf
26)

Question Stimulus :-

Which one of the following receives hot compressed refrigerant and cools it? / g o @ w9 i adifea

TRfide UTW T 3 3R 59 i Hrar 32
® Dehydrator/ ﬁﬁ'ﬁ%ﬁ
e Condenser / L DIGE]
e Evaporator / AP
® Throttle valve / IR area
Correct Answer :-Condenser / Tt

27)

Question Stimulus :-

Which one of the following is NOT a system of carburetor? / g A 9 P9 FraRe’ B yormelt qﬁ%’
® Float system / FdTe YoITett
® High speed system / I Tfd WoITet
® Power system / <1fad orrent
® Cleaning system / FT goTTent
Correct Answer :-Cleaning system / TR worTeRt
28)

Question Stimulus :-

In vacuum booster servo assisted hydraulic brakes, where is the vacuum developed? / frafa Wﬂﬁﬁﬁ

%d 9ferd P b e &, 34 faid wei AwRia gar @2
® In the inlet manifold / aitH ANvies A



e In the outlet manifold / fanta A wics |

® In the crankcase / PHHI A

® In exhaust manifold / faafae Aiwie &
Correct Answer :-In the inlet manifold / Jaifg afweics A
29)

Question Stimulus :-

On a%l.)eam axle, the stub axle pivots about the ./ T ﬂﬁtﬂ, ¥*Td ?;l'\ﬁ P 3R YT
gl gl

® Kkingpin/ =

® ball joint / CIG| \_rl"l’gf

® trackrod/ 2’533

® track arm / 237 e
Correct Answer :-kingpin/ fHiTfU=
30)

Question Stimulus :-

What type of tyre has a slow deflation when punctured and offers a considerable resistance to side

deflection when vehicle is cornered? / ﬁo—aw%tﬂ%ﬁﬁmﬁﬁw 'iﬂmmﬂ@m% Gﬁ? W%
®H A g1 W g I8 ) faeruity ufoRty wega srar g2

® Tubed cross-ply / oS B TIT'&F
* Tubed radial-ply / &Js8 ¥(SUH WS
® Tubeless cross-ply / W P Wﬂg

* Tubeless radial-ply / SITAH ST @15
Correct Answer :-Tubeless radial-ply / Wmﬂﬁ

31)
Question Stimulus :-

What is the range of the thermal efficiency of a good 1.C engine at rated load? / Gﬂﬂmﬁﬁ; YR TR 3
1.C ST B S CHIY &idT B TR T 82



® 10to20%
® 30to35%
® 60 to70%
® 80 to 90%

Correct Answer :-30 to 35%

32)
Question Stimulus :-

Which of the following is NOT a component of an anti-lock brake system? / = A B Q?ﬁ GICA L

WUTTRA! ST YT =161 &2
e Power-steering pump / UTaR W AN T8I
® Master cylinder / HIRCRY Rraver

Solenoid valve body assembly / ?ﬁﬁ?‘l’gg died FoTg v
® Wheel sensors / WI%TITW

Correct Answer :-Power-steering pump / qTaR ST g

33)
Question Stimulus :-

Locking hubs are used on some front-drive axles to / O e gIgd & TR SIE R aﬂ’mm\_ﬂﬁ%
|

e Improve fuel economy / 3¢ 1 FeqawIT GURA & ferw

Increase tyre life / U0 @1 Mg A gfx & ferw

* Reduce engine and transfer-case wear / $51 3R RTHTaR VI fRUfY BT o1 A1 & forw
All of the above / SURTad Tt

Correct Answer :-All of the above / SURIad g

34)

Question Stimulus :-

Vapor lock is caused because of ./ I RIED Eﬂﬁlﬂ @?IT % Fife




® locking carburetor jets due to high vapor pressure / 3™ dI™] ¢Id & BRI 37@2? Sic Al E?f
Wl

® excess fuel supply to engine due to faster vaporization / ol AT & BRI ETrF-Iﬁ s g‘éﬁ

® complete or partial stoppage of fuel supply due to the vaporization of fuel in supply system / GIT‘Iﬁ
o H S & T & HRUT U MY | gof a1 3fifk1e wd1ae gidl 81

e supply of liquid fuel particles to engine / sﬁqﬁaaéﬁﬁ ST Bt GIT‘Iﬁ |

Correct Answer :-complete or partial stoppage of fuel supply due to the vaporization of fuel in

supply system / 3MTqfd &= H Y9 P a0 & HRUT 3¢ 3ATYfef A ot a1 31ifrs Teprae gt g1

35)

Question Stimulus :-

As the shock absorber is compressed, fluid passes through the piston orifices and WA-L:|
&1 TP ToTaR GardT ATl &, fiRe=T Sifivthor 3R A &d [eRdT g |

e out of the dust shield / W?ﬂﬁ'%w
® into upper part of the cylinder / Rrcivey & Hudt U
® into lower part of the cylinder / Rrdvsy & 79 U
® out of the air or gas chamber /EHTTITﬁWGT&[%W
Correct Answer :-into upper part of the cylinder / RIUsy & ST YT

36)

Question Stimulus :-

What do GPS devices use to pinpoint locations? / IS I Sl TaH & ﬁl"’{ m SUDBIUT T
ST HXT 82

e Satellites / 3UYT

e Lasers / WoR

e Radioactive waves / YAyt a3
o Solar energy / HIR Sl

Correct Answer :-Satellites / 3UUgG

37)



Question Stimulus :-

The most common type of pump used for circulating lubricating oil in the engine is / qaifee

A TGRBITY W Sud A Ued dd & GRU S e ygad giare

of centrifugal type / ATDHE PR

of plunger type / WIS UPIR

a gear pump /Wﬁlﬂ?m
none of the above / mﬁﬁﬂﬁgqﬁ

Correct Answer :-a gear pump / & iR Tmg

38)
Question Stimulus :-

One purpose of the recirculation ball type steering gear is to reduce / I YPR & KT iR & g-:
ORI BT U ST Fopdtee

® Operating friction / PEIGER LY

® Operating cost / YTl ITd

® Toe-out during turns / ﬂ}lﬁ' CRANERECaoE]

® Number of parts / YT} P H=T
Correct Answer :-Operating friction / WdTelH TYu
39)

Question Stimulus :-

If acid falls on your skin or clothes, wash at once with ./ e Tyl WWWW iR
WY, Y 39 qd & 1Y e |

e sulfuric acid / R[NP 3T

o soap /AT
® water /STl

° oil/aﬁ

Correct Answer :-water / oIl



40)
Question Stimulus :-

What is a scriber made of? /WWW @Tﬂ%’

e Copper / didl

® High carbon steel / WWEWIT‘T

e Mild Steel / Jg ST

e (Cast Iron /mFﬁGT
Correct Answer :-High carbon steel /WWM
41)

Question Stimulus :-

Name the instrument used to check the state of charge of a battery. / 3 SUDBU[ BT ATH ddIgT Tl aﬁ
DI ATARIT SARIT FH ST P ¢ Uy gian 82

* Hydrometer/ F@w

e Hygrometer / STekaTHTdY

® Battery charger / a'gpﬁl'lﬁ?

® Battery eliminator / aﬂm
Correct Answer :-Hydrometer/ E‘IE@'IﬂE?

42)

Question Stimulus :-

The type of reflection used for automobile head lamps is ./ a1 ot 3R Bt it %ﬁm WRTad
PIVPRE |

® parabolic / URATYTDPIR

e spherical / MATPR

® hyperbolic / SfaRaaarsT
e elliptical / ?ﬂ'ﬁf qdleR

Correct Answer :-parabolic / IRAAITPIR



43)
Question Stimulus :-

Which one of the following suspension springs also act as a means for locating the axle? / ﬁ'ﬁﬁ Ean]

i e f8i, <& ot rifia A 1 Trea 82
® Laminated / 'q?ﬁl_d
* Helical / pSfera
* Torsion bar / 3TYUI &8
® Rubber /IdX
Correct Answer :-Laminated / Uefeld
a4)

Question Stimulus :-

When pressure regulator valve begins to operate, the first part to be charged with line pressure is the

. / ST ST fAr=re ared UTierd 8191 YR gidT 8, 99 31 19 9 STafrd UYH HIT g
I

® Torque converter / WG-ITE[Uf ftad®

® Forward clutch assembly / ODINCE BRI

® Manual valve / ﬁﬁ\’:ﬁf dica

® Governor assembly / TR HFIe
Correct Answer :-Torque converter / TSIFT\?IITQ:Uf f¥ad®
45)

Question Stimulus :-

A tyre has bald spots wear. The probable cause for this is ./ CIA H dics Wie %I Sl
HUTTIa HROT 2l

e over-inflation / A TR

e under-inflation / TR

® improper camber / Gﬂﬁl_d IR

® improper dynamic and static balancing / GERH Tfe=iie sk @RW



Correct Answer :-improper dynamic and static balancing / Glﬂﬁl_d Tfa=ie sik fRR ﬂﬂﬁq

46)
Question Stimulus :-

The secondary winding of ignition coil has ./ asddd Q’_\"’ﬁ & fgdias YHId |

* many turns of heavy wire/ YRl TR & 3H® B gId &
* many turns of fine wire / 3PY AR & 3P BIEA &
e few turns of heavy wire / YR R %W a‘ﬁ'éﬁ'%
e few turns of fine wire /WW%W%%%
Correct Answer :-many turns of fine wire /WE?I'R'Q? aﬁﬁiﬁtﬁ?f%

47)

Question Stimulus :-

What is an included angle is equal to? / T '{ﬂ'ﬁ‘l@'@' PIvT fhad SRR %?
® Camber angle + caster angle / W PI0T + %\E?aﬁw
¢ Kingpin inclination + camber angle / IEIUE] APId + SR BIUT
® (Caster angle + kingpin inclination / T BIvT + fhafue dPId

® Front inner wheel angle + outer angle on toe out of wheels / 3{Y K GIEED uﬁmﬁw + 'lT%T{ G|
3TIC TR TS BIUT

Correct Answer :-Kingpin inclination + camber angle / %’fﬁqw + PR BT
48)

Question Stimulus :-

Which one of the following statements is NOT true? / faA I s I HYT gt :lﬁ%?

® In the torque tube drive, the propeller shaft is enclosed in a tube. / P et SIgd H, Aiq® AT
Il § Hau IEar gl

® In Hotchkiss drive closed propeller shaft is used. / ghm SIgd o W =ﬁ‘<.r$ RMTHS Ugad E}HT % |

® In vehicles the Hotchkiss propeller shaft arrangement is widely used. / a'IETﬁ ﬁﬁmﬁw
TMTUE SqaYT ATYP ¥ A Tgad gl g1



® In the torque tube, the driving thrust is taken up by torque tube assisted by radius rods or brace. /

eI Tt , STSTET 3ve 1 Tt ogd GRTHUR A ST STl @ TUT ST TS T 99 GRT Il
WS &1 ATt 3|

Correct Answer :-In Hotchkiss drive closed propeller shaft is used. / 3‘1%%3133 ﬁ'\‘lﬁ?‘[ W
XMW WY giaT 2 |

49)
Question Stimulus :-

The valve mechanism is operated by the . /dled fopanfafer _gRI yrTferd gielt %
e Crankshaft / FHITH
® Timing gear / JHY i
e Flywheel / TfAUTA® Th
e Camshaft / > IR
Correct Answer :-Camshaft / Y I
50)

Question Stimulus :-

When should the ATF level be checked on most vehicles? / SfftraigT WWW A} Hd ST ST

qIfeu?
® When the engine is cool. /Wsﬁqaﬂaﬁs’r
® When the engine is at operating temperature and the engine is OFF. / Wmmw
WG R ETATE T
® When the engine is at operating temperature and the engine is ON. / \_rI_Q'ETrF[ U= ar9HE 1R
AR ETAE T

e None of the above. /m 7 Tﬁé T'I'Eﬁ

Correct Answer :-When the engine is at operating temperature and the engine is OFF. / STd $oi

IR TIHTE W8l 3R S 9 8

51)
Question Stimulus :-

Which one of the following instrument is also called the mile meter? / fadg P19 T IUHIT HITA
Hiex Wt wgamar g2



e Odometer / 3TSIHIEY

® Speedometer / CIGE L]

® Tachometer / 1q:'Jﬁ"'l'l:ITfﬂ

e Rotometer / AR
Correct Answer :-Odometer / 318 IHIeY
52)

Question Stimulus :-

When the gear ratio through the transmission is 1:1, the transmission is in ./ R gRT oid iR
YT 1:1 B, a9 JER0T ug

 Overdrive / 3a% Sigd
Direct drive / 3@33 SIgd
Under drive / 38X §13d
Neutral / 33'@7'[

Correct Answer :-Direct drive /31@333133

53)
Question Stimulus :-

Which one of the following type of clutches is used in two wheelers? / E.Pf W%TIT mﬁﬁ'ﬁ AP
g UG gia1 82

e Cone clutch /aﬁqm
e Diaphragm clutch / STUWIH &¢id
e Multi-plate clutch / AT W &9
® Dog clutch / ST o
Correct Answer :-Multi-plate clutch /ﬂ?ﬁlﬂf?ﬁﬁr

54)

Question Stimulus :-



The Carpenter's tool used to drive and pull nails is the ./ WWH’&'WW a1 dg
FIdl B Sipdr o Hiaar g

e Claw hammer / AT B'QHET

Sawhorse / ar B'ﬁ

Rubber hammer /IdS FQﬁST
Tack hammer / g EQﬁST

Correct Answer :-Claw hammer / Nl E'ZﬁST

55)

Question Stimulus :-

The type of stub axle shown in sketch (below) is JAR T IvIE H E&ﬁ?‘SITEH ﬂj’ﬁ
HUFR B

Stub axia
e
vl

!

1
pin

Front axia

® Lemoine / d:h:ﬁ?ﬁl

e Reversed Lemoine / Wﬂtﬁ?ﬁl

* Elliot / §fc13IC

® Reverse Elliot / ng%rard
Correct Answer :-Reversed Lemoine / m?ﬂtﬁ?ﬁ
56)
Question Stimulus :-

A car is powered by 1.4 litre engine. What does 1.4 litre represent? / Td PR 1.4 ex ESEER Tarferd
1 1.4 e T UgRia #ar g2



® Horse power /eﬁw

¢ Engine torque / gaqaaarrq;ﬁ

 Engine cubic capacity / ST 9= &HdT

e Bore diameter/ IR I
Correct Answer :-Engine cubic capacity / ST 91 &HdT
57)

Question Stimulus :-

In the friction disc, torsional vibration is absorbed by: / atfw%wﬁﬁa—-rw gIRT
SN glar gl

® Cushion bolts / W@Iﬁ'
® Coil springs /?Ugf‘ﬂ &
® Waved pads /a@'a@"’

® Friction pads / uyur i

Correct Answer :-Coil springs /m i

58)
Question Stimulus :-
Which one of the following is a destructive test? / g o A 19 91 UeTe udier %?
e X-ray test / QT\"’T% tI'\Pf&‘l'l'JT
® Dye penetration test / 31% AR URI&0T
® Nick-break test / Gﬁ@?{ o T\&&‘I'UT
e Ultrasonic test / YUY qﬁ&‘I'UT
Correct Answer :-Nick-break test / 3ATSE HoT- USI&T0T
59)

Question Stimulus :-

The gears in a constant mesh gear box have teeth which are inclined to the shaft axis. This type of gear is

called ./ e A1 R 9 9 gid 81 & il i e g IR g 81 81 SH TR 31 RR
PEArIg|



® Spur /HRX

e Worm /dTH
e Bevel / 90d
e Helical / mﬂ
Correct Answer :-Helical / @_é'»'m

60)
Question Stimulus :-

The capacity of a battery is usually expressed in terms of ./ a‘gﬁ P &HAT I
F Y B g B S B

® Volts/ dlee

® Currents in amperes / Q'anw ﬁﬁ'gu?r YRT
® Weight / duid

® Ampere hours / Quﬂ'cﬂ'ﬂ%

Correct Answer :-Ampere hours / TRIIIR H¢

61)
Question Stimulus :-

In error, the final drive assembly was fitted upside down in the rear axle such that the crown wheel is now
on the right-hand side of the pinion. What will be the effect of this error? / Z’ﬁ'ﬁ, Uy 3fer | Sifaw SIgd

AT ST 3R W 2 B a1 7 o {6 spra=1 ufean sre Rfaa & SR gy o 3R g1
39 I &1 T YHTT TSR

® The propeller shaft will rotate in the opposite direction. / T'ﬁﬁ e faudia fezmd '{BITIT

® The direction of rotation of the road wheel is reversed. / HS®H W%'a' %Waﬁ |EQII fauda 33f

® One half shafts will turn forwards; the other will turn backwards. / 3T T 3T Bt 3R qs
ST R Tt 3 i Ft 3k g Wit

® The inner wheel will be speeded up, the outer will be slower down. / 3faf® Tﬂ%’& 4| Wﬁfa'd

SITE o aret dwr gt s



Correct Answer :-The direction of rotation of the road wheel is reversed. / Wu%ﬁasqnﬁaﬁ

fe=m faudia gt st

62)
Question Stimulus :-
In an automobile the magneto is basically a/an ./ digd ﬁﬁﬁz‘rqa?r %

e D.C Generator /D.C W

e A.C Generator / A.C SR

* Transformer / TABRR

® Capacitor / Temfe
Correct Answer :-D.C Generator / D.C SIFI¥ex
63)
Question Stimulus :-

A semi-conductor is a material with A Qf dlcid Th tIET?-f %’ ﬁl’\‘l’ﬁ'
|

e exactly four electrons in its outermost orbit / sﬂﬂﬁm DET AfAfdaar 3@7@77'[ _bﬁ% %

° more% than four electrons in its outermost orbit / ?{Hﬂ”ﬂm DET IR 91 39N YR sﬁaﬁﬁ

® less than four electrons in its outermost orbit / W qTelcdH P&l A IR 91 39 FH sﬁaﬁ'—r fﬁ%

® none of the above/ SR A Y aﬁ's::lﬁ
Correct Angwer :-exactly four electrons in its outermost orbit / w?ﬁ CIRGE KT IR B I1E G ECIE

64)

Question Stimulus :-

Simple planetary gears generally offer reductions as high as / W'@ﬁﬁﬁﬂﬂ' STHAR TR
o aiftres =grie~oT yRanfad #ed €1

e 10:1

e 20:1



e 30:1

°* 40:1
Correct Answer :-10:1
65)
Question Stimulus :-

What gives the clamping force on the linings of a single-plate clutch? / Tdh W@maﬁaaﬁmﬁﬂ W
FATRAT 96 DI a1 3?2

® Pneumatic cylinder / R{ﬂﬁﬁ?ﬁﬁm

e Hydraulic cylinder / Gadferd Rrdivez

® Diaphragm spring / ST BT

® Single helical spring / Tl g’_\‘ﬁ%ﬁw
Correct Answer :-Diaphragm spring / ST BT
66)
Question Stimulus :-

The most effective method of controlling SI Engine exhaust emission is by . /SI $91 frafas

Igo & v s gaffie gurdi fafsr . 3

® re-circulating exhaust gas / frafa® ﬂﬂ'aﬂ"ﬂq UfRERT

® using catalytic converter / IAR® Ufvade® &1 IuaNT

® using some additives in the fuel/ %'EFI | PO TS T YT

® none of the above / mﬁﬁaﬁiﬂﬁ
Correct Answer :-using catalytic converter / IIRP URad® &1 IUART
67)

Question Stimulus :-

Which of the following is NOT required in automatic transmission? / ru ¥ 9 frget warfed e d
TIIPH T 181 32

e Gears and clutch pedal / TR 3R &9 Usd



® Clutch pedal and gearshift / F9 s 3R frRfRe

® Gearshift and steering wheel / R R Gﬁ? Tt @T’l’

e Steering wheel and clutch pedal / i 1TI'%'CIT Gﬁ?' FAUSA
Correct Answer :-Clutch pedal and gearshift / 9 TS 3R iR

68)

Question Stimulus :-

Trafficators are lights used for ./ EWT dg W%Gﬁ' & ﬁl"!
SUERT 8Id B

e light traffic /S JTATATd

® heavy traffic / Y grarard

® indicating the direction of turning / lﬂg &1 fa=m & ddhd

® reversing the car in traffic / 9Td™ATd A PR & Hio A
Correct Answer :-indicating the direction of turning / 'Fﬁ@' 4| %Q'IT & Hobd
69)

Question Stimulus :-

In a car with front-disc and rear-drum brakes, the brake pedal sinks slowly to the floor while the pedal is
depressed at a traffic light. This condition could be caused by: / SId aﬁwm Wﬂsﬁmm%
a9 3 f&%P 3R Uy SH aTell FR A 9 Usd dd R A €7 orar 8 | -} fRufa g & sror gt
ol g |

® A leaking cup in the master cylinder / Y Rrevsr d R wu
® A leaking power-brake booster / Tdh g aren wfea 9@ qc
® A leaking residual check valve / T e GIH'QTE ST dTed
® An internal leak in the combination valve / g+ dlcd A sriafye g
Correct Answer :-A leaking cup in the master cylinder / mﬁﬁmﬁ g oy

70)

Question Stimulus :-

Piston rings are usually made of WAL R STHAR TR ¥ fAffa s %



® cast-iron / W@ET

® aluminum / Q’ﬁﬁlﬁ'ﬂ'ﬁ

® phosphor bronze / BIEpR i

e carbon steel / WEWI?T
Correct Answer :-cast-iron /m?ﬁm
71)

Question Stimulus :-

In oxy-acetylene welding the flame temperature is between ./ m—maﬁqﬁ oqIdl
ATqH & HE BRI

1600-1700°C

2000-2100°C

2500-2600°C

3200-3300°C

Correct Answer :-3200-3300°C
72)

Question Stimulus :-

The secondary voltage in a spark ignition engine is of the order of: / Wﬁﬁﬂﬂ Wmﬁﬁ?ﬂw

PHA AT

e 200 to 500 volts

® 1000 to 2000 volts

® 5000 to 8000 volts

® 15000 to 20000 volts

Correct Answer :-15000 to 20000 volts

73)

Question Stimulus :-



Which one of the following frame sections offers the least resistance to bending and twisting? / ﬁ'ﬁﬁ'@ﬁ

AT d 4D A PP R 7o & g Fr afekiy uea s e
* Flat /T
* Tubular / SISIER
e Channel/ I
e Box /dlad
Correct Answer :-Flat / Ti€
74)

Question Stimulus :-

What should be done to correct heavy toe contact on the crown wheel teeth? / hT3- 1TI"%TIT Eg"vl?l R UL

<1 U D1 Wl B P forg at fasan s =nfee

* Move the drive pinion in / §T5d fUfI B 3rax 1 R ga™T A1fFT

® Move the drive pinion out / T3d fUfra=T &1 aT8% $ 3R T AT

* Move the crown wheel out / T3 Ufgd P dT8R B! 3R IAHT AT

® Adjust back lash by the required amount / 3TdIP HEAT A 9 A BT U LG 1Y
Correct Answer :-Move the drive pinion in /Wﬁ'ﬁ'ﬂqﬁ Wﬂ"ﬂ GﬁTﬂﬂFﬂﬂT%E
75)

Question Stimulus :-

What is (normally) the frequency of flashing light, in a direction indicator? / Thde B fozm & waflRi
TS DI ATHRIG: ATgid FT ghil?

e 20 per minute /ufd fiee
® 40 per minute / ufa fime
® 80 per minute /';Iﬁfﬁl:lf
® 160 per minute /';Iﬁ'fﬁl:lf

Correct Answer :-80 per minute / Ufd fiFe



